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debasish chakraborty 19 hours ago

Homework :

Row 1 - Q(N) M(S) S(N) Z(S) P(S)
Row 2 - R(N) N(S) O(N) L(N) D(S)
Thank you mam. Awesome session.

@y GP  REPLY

MNadeem 13 hours ago

& Homework Answer

North Facing:-SQRLO
South Facing-ZPMDN

€ Thank you Mam @) & &

b GR REPLY

Mabanita De 17 hours ago

H.W-North-QSROL.South-MZPND.Thank you ma'am.
oy 5P REPLY

Sonam Pundir 8 hours ago
Hw ans

Row 2 N(s) R(n) O(n)L(n) D(s)
Row 1 Q(n) M(s) S(n) Z(s) P(s)
Thank you ma'am

b GR REPLY
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Ten persons sit in two parallel rows i.e. row 1
and row 2 with five persons sitting on each
row. Five persons face north and rest face
south. Each person sitting in row 1 sits exactly
opposite to each personinrow 2. Row 1 is in
south direction of row 2. Z sits third to the
right of Q. Z sits opposite to the person who
sits immediate right of O. O faces north. D sits
opposite to the one who sits third to the left of
M. Z face the opposite direction to Q. Only
three persons sit between Q and P who sits in
row 1. L is an immediate neighbour of both O
and D. S sits second to the right of the person
who sits opposite to D. R sits immediate right
of N. R faces the same direction as O. Sand L
face the same direction as Q
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Ten persons sit in two parallel rows i.e. row 1
and row 2 with five persons sitting on each
row. Five persons face north and rest face
south. Each person sitting in row 1 sits exactly
opposite to each personinrow 2. Row 1 is in
south direction of row 2. Z sits third to the
right of Q. Z sits opposite to the person who
sits immediate right of O. O faces north. D sits
opposite to the one who sits third to the left of
M. Z face the opposite direction to Q. Only
three persons sit between Q and P who sits in
row 1. L is an immediate neighbour of both O
and D. S sits second to the right of the person
who sits opposite to D. R sits immediate right
of N. R faces the same direction as O. Sand L
face the same direction as Q
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How many persons sit between L and R? A. Two
B. Three C. One D. None E. None of these

If Ris related to Q, N is related to M then i n the
same manner Lisrelatedto __ ?A.ZB.PC. OD.
D E. None of these

Who sits immediate right of the one who sits
opposite to S? A.LB. RC. D D. N E. None of these
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Which of the following statements i s not true?
A. S face the same direction as R B. R sits at the
end of the row C. D sits opposite to P D. O sits
immediate right of L E. All are true

Which of the following is true regarding M? A. M

sits at the end of row B. M sits oppositetoRC. M
sits immediate left of S D. Both a) and c) E. None

is true
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Eight persons-P,Q, R, S, T, U, V, and W were born in
different years but not necessarily in the same order. The
ages of each person are calculated from the base year 2020.
Note: If it is given that A’s age is equal to the last two digits
of the birth year of B, then the age of A will be in any
sequence. For example: If B is born in 1992, A’s age is equal
to the last two digits of the birth year of B, then the age of A
may be either 29 or 92 years. None of the persons were born
before 1980 and after 2012. Q was born in 1992. Only one
person was born between Q and W. Q’s age was equal to the
last two digits of W’s birth year. At least one person was

W‘_ﬂ% W QEET ATI W Gﬁ?‘ R F} ang%aﬂ%rm elder than W. The difference between the ages of W and R is
3(d3 2012 ﬁﬁﬁ@ﬁﬁ@ﬁﬁ%l w3 one year less than the one who was born in 2012. The
tl?ﬁ ICS LI ARIEC R dc %ng number of persons born before W is the same as after T. The
Wﬁ \-,’"-g\—,ﬁ R %mmﬁa 3T YT, g U Al age of the one who was born immediately before R is twice
| KAl 3T, P %ﬂ?ﬁmﬁ'ﬂ the age of U. The age of T is the last two digits of the one
a‘-\r W%I S aﬁ? U B 3T PT who was born immediately after P. The sum of the ages of S

and U is equal to the age of T.

a&m%w% r,s
5‘5:()()

— 2
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Eight persons-P,Q, R, S, T, U, V, and W were born in different
years but not necessarily in the same order. The ages of each
person are calculated from the base year 2020. Note: If it is given
that A’s age is equal to the last two digits of the birth year of B,
then the age of A will be in any sequence. For example: If B is
born in 1992, A’s age is equal to the last two digits of the birth
year of B, then the age of A may be either 29 or 92 years. None of
the persons were born before 1980 and after 2012. Q was born in
1992. Only one person was born between Q and W. Q’s age was
equal to the last two digits of W’s birth year. At least one person
was elder than W. The difference between the ages of W and R is
one year less than the one who was born in 2012. The number of
persons born before W is the same as after T. The age of the one
who was born immediately before R is twice the age of U. The
age of T is the last two digits of the one who was born
immediately after P. The sum of the ages of S and U is equal to
the age of T.
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il
What is the age of U? A. 19 B. 27 C. 28 D. 08 E.

38

1982 | W | 38

. Who among the following person w as born in
n 1989?
g '?he one who born immediately before Q
2001 [U [ 19 C.U
N
ﬁ E. The one who born two persons before U

What is the sum of the ages of R and Q? A. 60 B.
55C.65D.59E.75
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1980 E How many persons were born between the one who was

1981 |V | 390 born in 1981 and the one w hose age is 28?
A. Three

B. As many persons were born between P and W
C. Two D. Four
E. As many persons were born before P

Four of the following five are alike in a certain way to form
a group. which of the following does not belong to the
group?

A. P

B. The one who born in 1982

C.S

D.Q
E. The one who born in 2001
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Eleven boxes are kept one above the other in eleven
different shelves such that the lowermost shelf is
numbered as 1, the shelf immediately above is
numbered as 2 and so on till the topmost shelf is
numbered as 11. Only three boxes are kept between
the boxes R and S. Box T is kept immediately above
box S. Only one box is kept between the boxes S and
G. Box G is kept above box S. Only two boxes are
kept between the boxes H and R. Box S is kept
adjacent to box B. Boxes W and P are kept above
box G. The number of boxes kept between the boxes
W and P is the same as the number of boxes kept
between the boxes S and B. The number of boxes
kept above box H is the same as the number of
boxes kept below box N. The number of boxes kept
between the boxes W and J is the same as the
number of boxes kept between the boxes T and F.
Box F is kept below box T
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Eleven boxes are kept one above the other in eleven
different shelves such that the lowermost shelf is
numbered as 1, the shelf immediately above is
numbered as 2 and so on till the topmost shelf is
numbered as 11. Only three boxes are kept between
the boxes R and S. Box T is kept immediately above
box S. Only one box is kept between the boxes S and
G. Box G is kept above box S. Only two boxes are
kept between the boxes H and R. Box S is kept
adjacent to box B. Boxes W and P are kept above
box G. The number of boxes kept between the boxes
W and P is the same as the number of boxes kept
between the boxes S and B. The number of boxes
kept above box H is the same as the number of
boxes kept below box N. The number of boxes kept
between the boxes W and J is the same as the
e number of boxes kept between the boxes T and F.
. @ BoxFis kept below box T
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Which of the following box is kept two boxes above box P?
A. The box which is kept at eighth position B. Box N C. Box
S D. The box which is kept immediately above box W E.
None of these

How many boxes are kept between box S and box R? A.
Three B. As many boxes between box T and box F C. One D.
More than three E. As many boxes below box N

How many boxes are kept above box J? A. As many boxes
below B B. Three C. Six D. Four E. As many boxes between
box R and box F
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Four of the following five are alike in a certain
way and hence form a group. Which of the
following one doesn’t belong to that group? A.
HP B. WRC.FND. JTE.RG

What is the position of box T from the top of the
shelf? A. Sixth B. Second C. Third D. Seventh E.
Fifth
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“AB,C,D, E,F, G, 3 HIHTHR A Eight persons- A, B, C, D, E, F, G, and H are sitting on th& ® .
T T ﬁ%’aﬁ-% Afp o= T circular table facing towards the centre, but not

necessarily in the same order. They all have different ages

FE
8
3 ﬁ?

37 9} safeaal &t and the age of all the persons is less than 50 years. G sits
Hfed & g third to the right of the one who sits to the immediate left
Gﬂ'ﬁmﬁ?ﬂ% . of the one whose age is 36 years. Two persons are sitting

L
ZE:
:

between G and F. D sits adjacent to the one who sits
second to the right of A. A sits to the immediate left of F.
The one whose age is 20 years sits opposite to the one

3
4

2 6 20 94 who sits second to the left of E. Neither F nor G is 20 years
uﬁm%ﬁmﬁ 3T 15 H'Ef%I T old. H sits third to the left of the one whose age is 15

15 99 BT : years. Neither E nor A is 15 years old. B sits second to the
Gl GHIF left of C. The age of D is twice the age of the one who sits
%l :E% DP A to the immediate right of G. The age difference between E
H‘TIT:_?I Xl GITQ% ' : and D is the same as between D and A. The age of G is five
LEELEIC Cel years more than the one who sits to the immediate left of
ﬁw?ﬂfﬁa G. The age of F is one year less than the one who sits to

STy 22 qé gl the immediate right of H. One of the persons sitting on the
— o table is 22 years old.
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Eight persons- A, B, C, D, E, F, G, and H are sitting on tM »
circular table facing towards the centre, but not
necessarily in the same order. They all have different ages
and the age of all the persons is less than 50 years. G sits
third to the right of the one who sits to the immediate left
of the one whose age is 36 years. Two persons are sitting
between G and F. D sits adjacent to the one who sits
second to the right of A. A sits to the immediate left of F.
The one whose age is 20 years sits opposite to the one
who sits second to the left of E. Neither F nor G is 20 years
old. H sits third to the left of the one whose age is 15
years. Neither E nor A is 15 years old. B sits second to the
left of C. The age of D is twice the age of the one who sits
to the immediate right of G. The age difference between E
and D is the same as between D and A. The age of G is five
years more than the one who sits to the immediate left of
G. The age of F is one year less than the one who sits to
the immediate right of H. One of the persons sitting on the
table is 22 years old.
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Which of the following combination is true with respect to
the final arrangement? A. F-36 B. E-15 C. D-30 D. C-20 E. B-
22

How many persons are sitting between D and E? A. One B.
Two C. Three D. Four E. Either b or d

Who among the following person sits opposite to the one
whose age is 29 years? A. The one who sits second to the
left of D B. C C. AD. The one whose age is 35 years E. The
one whose age is 15 years
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If G is related to 30 years and A is related to 22 years in a
certain way, then who among the following person is
related to 15 years?

A. E B. The one who sits opposite to F C. CD. The one who
sits third to the left of D E. None of the above

Four of the following five are alike in a certain way and
hence form a group. Find the one that does not belong to
that group. A. E B. The one who sits second to the right of
C C. The one who sits to the immediate right of H D. The
one who sits to the immediate left of DE. A
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persons L, M, N, O, P, Q, RandS were born in the
years 1963, 1967, 1976, 1979, 1983, 1987, 1990, and 1997
not necessarily in the same order. They were born in the
places Indore, Raipur, Hydrabad, Pune, Kanpur,
Manipur, Vizag and Noida not necessarily in the same
order. They were born on the same date i.e. on 17t
October. Make the age calculations as on 17th October
2019. S was 4 years elder to the one born in Pune. The one
born in Pune was born at a gap of 4 persons from P.
Number of persons elder to the one born in Kanpur was
one more than that of number of persons younger to R. R
was 8 years elder to O. Not more than two persons were
born between S and R. The one born in Raipur was born
after 1983 but not on even year. N was born in Indore at a
gap of 4 persons from Q. The one born in Noida was born
just before M but not eldest. Nobody was born between
the ones born in Vizag and Raipur. The person born in
Manipur was aged 36 years old. O was not born in Raipur
and L was not born in Kanpur and Manipur. The person
born in Hyderabad was elder to the one born in Kanpur.

SBI CLERK 2022 / /mmat 11:30 Am | '5:00_
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Eight persons L, M, N, O, P, Q, R and S were born YA
years 1963, 1967, 1976, 1979, 1983, 1987, 1990, and 1997
not necessarily in the same order. They were born in the
places Indore, Raipur, Hydrabad, Pune, Kanpur,
Manipur, Vizag and Noida not necessarily in the same
order. They were born on the same date i.e. on 17t
October. Make the age calculations as on 17th October
2019. S was 4 years elder to the one born in Pune. The one
born in Pune was born at a gap of 4 persons from P.
Number of persons elder to the one born in Kanpur was
one more than that of number of persons younger to R. R
was 8 years elder to O. Not more than two persons were
born between S and R. The one born in Raipur was born
after 1983 but not on even year. N was born in Indore at a
gap of 4 persons from Q. The one born in Noida was born
just before M but not eldest. Nobody was born between
the ones born in Vizag and Raipur. The person born in
Manipur was aged 36 years old. O was not born in Raipur
and L was not born in Kanpur and Manipur. The person
born in Hyderabad was elder to the one born in Kanpur.
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1. Who among the following person is
from Pune?

(a) P

e,

(c) L

(d) R

(e) O

2. Which of the following statements is
true?

(a) M age Is 40year

(b) N age is 52year

(c) O age Is 29year

(d) Q age is 24 year

(e) L age iIs 52 year
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'EAR | AGE | PERSON| PLACE 3. Four of the following are alike in a certain way

and thus form a group. Which of the following
does not belong to the group?

(a) N - Noida

(b) M - Kanpur

(c) P - Raipur

(d) S - Pune

(e) O - Noida

4. If ‘Hydrabad’ is related to 43’ and ‘Indore’ is
related to ‘36’ in a certain way. Then who among
the following will be related to ‘Manipur’?

(a) 24

(b) 29

(c) 32

(d) 36

(e) None of them
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Eight Person B, F, H, J, U, W, Y and Z are born in
different years -1978, 1981, 1983, 1985, 1989, 1994,
1997 and 1999. Each person’s age are calculated with
respect to the current year (2020), same month and
same date. Each one of them has different number of
chocolate from 1 to 8 but not in the same order. B and
Y’s age difference and their difference of chocolate are
same, in which their difference of ages will be the
number of chocolate for J. Z is 4 years older than

Y. Sum of number of chocolate of H and Z's is 8. U was
born before 1997. Number of chocolate of U is below 3.
Number of chocolate of J is above 4. Both H and Z’s
does not have even number of chocolate. Number of
chocolate of Y is three times of number of chocolate of
Z. Three persons were born between H and W. W was
born after H. less than three persons were born
between J and Y. More than three persons were born
between F and U. F was born on odd number year.
Sum of number of chocolate of Fand U is 6.

TS AfRIB, F, H,J, U, W, Y R BT . H gl @
3{ET- (T 9N -1978, 1981, 1983, 1985, 1989, 1994,

1997 ae;.??\_’l%g% | u?a% 2ES ﬁ%angaﬁﬁﬂgg%
|y 1 T (R030) F AGY H, 51 eI
3MY 951 IRIE | 378 T TS & UTH dlpeic Bl
S-S HE-AT B 1 8 TP aAfob1 I A H
g1 B 3R Y B 3T BT 3R 31X ISP AIdeic B
3R HAT 8, Fored STt 31mg T 3iax 1 & ferg
dicheic B HBIT & SRR FIVT1 Z, IHH 4 U ST
21 Y. H 3R 2 $} Gicheic S ST HTANT 8| U DT

Y1) 3R Y & g dI9 9 &1 Afed UeT g
Y| F IR & T i I s AT USTET A U. F
] ST=H fAwH H@IT aTel oy H 31 4TI F 3R u Y
didpe B ST HTANT 6 |

I ——
F S OO
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Eight Person B, F, H, J, U, W, Y and Z are born in me
different years -1978, 1981, 1983, 1985, 1989, 1994,
1997 and 1999. Each person’s age are calculated with
respect to the current year (2020), same month and
same date. Each one of them has different number of
chocolate from 1 to 8 but not in the same order. B and
Y’s age difference and their difference of chocolate are
same, in which their difference of ages will be the
number of chocolate for J. Z is 4 years older than

Y. Sum of number of chocolate of H and Z's is 8. U was
born before 1997. Number of chocolate of U is below 3.
Number of chocolate of J is above 4. Both H and Z’s
does not have even number of chocolate. Number of
chocolate of Y is three times of number of chocolate of
Z. Three persons were born between H and W. W was
born after H. less than three persons were born
between J and Y. More than three persons were born
between F and U. F was born on odd number year.
Sum of number of chocolate of Fand U is 6.
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Who among following have 6 chocolate?

ld.a'r:- (a) U
-- EE? o
--- (d) F

1985 | 35 (e) B
What is the age of the person having 8
“ chocolate?
(@) 23 yr
21 | F (b) 21yr
(C) 26 yr
(d) 35 yr

(e) 39 yr
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How many person are their between the one
whose birth year is 1981 and the one who has 4
chocolate?

(@)1

(b) 2

(c) 3

(d) 4

OF

Four of the following five are alike in a certain
way and hence they form a group. Which one of
the following does not belong to that group?

(@) J

(b) Z

(c) W

(d) F

(e) B
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